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pbes nu Xms(s3_SQ: Pos, x_SQ: Nat, n_SQ: Int, s30_REM: Pos, x_REM: Nat, s31_SUM: Pos, x_SUM,y_SUM: Nat, s3_Seq0: Pos, x00_Seq0,x_Seq0,x01_Seq0: Nat, z01_Seq0,n00_SeqO: Int,
x1_Seq0,y1_SeqO: Nat, n_SeqO: Int) =

CCCCCCCCc((val((s30_REM == 2 && s31_SUM == 1 && x_REM mod 10 < 10)) | | Y1ms_tau(s3_SQ, x_SQ, n_SQ, s30_REM, x_REM, s31_SUM, x_SUM, y_SUM, s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0,
201_Seq0, n00_Seq0, x1_Seq0, y1_Seq0, n_Seq0)) && val(!(s30_REM == 3 && s31_SUM == 1)) | | Y1ms_tau0(s3_SQ, x_SQ, n_SQ, s30_REM, x_REM, s31_SUM, x_SUM, y_SUM, s3_Seq0, x00_Seq0,
x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, y1_Seq0, n_Seq0)) && val(!(((s3_SQ == 1 && !(0 < n_SQ)) && s30_REM == 1) && s31_SUM == 3)) || YIms_prts(s3_SQ, x_SQ, n_SQ, s30_REM,
X_REM, s31_SUM, x_SUM, y_SUM, s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, y1_Seq0, n_Seq0)) && val(!(((s3_SQ == 1 && !(0 < n_SQ)) && s30_REM == 1) &&
s31_SUM == 2)) || Y1ms_prt(s3_SQ, x_SQ, n_SQ, s30_REM, x_REM, s31_SUM, x_SUM, y_SUM, s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, yl_Seq0, n_Seq0)) &&
val(!((s3_SQ == 2 && s30_REM == 1) && s31_SUM == 3)) || Ylms_prtsO(s3_SQ, x_SQ, n_SQ, s30_REM, x_REM, s31_SUM, x_SUM, y_SUM, s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0,
n00_Seq0, x1_Seq0, y1_Seq0, n_Seq0)) && val(!((s3_SQ == 2 && s30_REM == 1) && s31_SUM == 2)) || Y1ms_prt0(s3_SQ, x_SQ, n_SQ, s30_REM, x_REM, s31_SUM, x_SUM, y_SUM, s3_SeqO,
x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, y1_Seq0, n_Seq0)) && val(!(s31_SUM == 3)) || Yims_prts1(s3_SQ, x_SQ, n_SQ, s30_REM, x_REM, s31_SUM, x_SUM, y_SUM,
s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, yl_Seq0, n_Seq0)) && val(!(s31_SUM == 2)) || Yims_prt1(s3_SQ, x_SQ, n_SQ, s30_REM, x_REM, s31_SUM, x_SUM,
y_SUM, s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, yl_Seq0, n_Seq0)) && (forall x0_SQ: Nat. val(!(s3_SQ == 1 && 0 < n_SQ)) || YIms_in1(s3_SQ, x_SQ, n_SQ,
s30_REM, x_REM, s31_SUM, x_SUM, y_SUM, s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, y1_Seq0, n_Seq0, x0_SQ))) && val(!((s3_SQ == 1 && (0 < n_SQ)) &&
s30_REM == 1)) || Yilms_taul(s3_SQ, x_SQ, n_SQ, s30_REM, x_REM, s31_SUM, x_SUM, y_SUM, s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, y1_Seq0, n_Seq0)) &&
val(!(s3_SQ == 2 && s30_REM == 1)) || Y1ms_tau2(s3_SQ, x_SQ, n_SQ, s30_REM, x_REM, s31_SUM, x_SUM, y_SUM, s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_SeqO,
y1_Seq0, n_Seq0)) && (((val(!(s3_Seq0 == 2)) || Yism_prts(s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, yl_Seq0, n_Seq0, s3_SQ, x_SQ, n_SQ, s30_REM, x_REM,
s31_SUM, x_SUM, y_SUM)) && (forall e10_Seq0: Enum3. val(!(C3_2(e10_Seq0, true, true, true) && C3_2(e10_Seq0, s3_Seq0 == 6 && n00_Seq0 == 0, s3_Seq0 == 4 && n00_Seq0 == 0, s3_Seq0 ==
1 && n_Seq0 == 0))) || Y1lsm_tau(s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, y1_Seq0, n_Seq0, s3_SQ, x_SQ, n_SQ, s30_REM, x_REM, s31_SUM, x_SUM, y_SUM,
e10_Seq0))) && (forall e9_Seq0: Enum4, x000_Seq0: Nat. val(!(C4_2(e9_Seq0, true, true, true, true) && C4_2(e9_Seq0, s3_Seq0 == 7 && 0 < n00_Seq0, s3_Seq0 == 6 && 0 < n00_Seq0, s3_Seq0
== 4 && 0 < n00_Seq0, s3_Seq0 == 1 && 0 < n_Seq0))) | | YIsm_in1(s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, y1_Seq0, n_Seq0, s3_SQ, x_SQ, n_SQ, s30_REM, x_REM,
s31_SUM, x_SUM, y_SUM, e9_Seq0, x000_Seq0))) && (forall e4_Seq0: Enum4. val(!(C4_2(e4_SeqO, true, true, true, true) && C4_2(ed_Seq0, s3_Seq0 == 4, s3_Seq0 == 5, s3_Seq0 == 7, s3_Seq0
== 8 && 0 < n00_Seq0))) || Y1sm_prt(s3_Seq0, x00_Seq0, x_Seq0, x01_Seq0, z01_Seq0, n00_Seq0, x1_Seq0, y1_Seq0, n_Seq0

ed_Seq0)); - B B ) ) ) ) ) ) ) ﬁ Eﬂﬂ‘]':fiﬂgﬁﬁb‘
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channel end2 0;
channel prt 0;
channel prts 0;

#alphabet SQ {in,sg,end};
#alphabet REM {sq,rem,end2};
#alphabet SUM {rem,prt,prtsum};

caL = (bQ(3) || REM || 5UM(0))
% {sqg.0,sq.1,sq.2,s3q.4,3q.9,3q.16,end.0,
rem.0,rem.1, rem. 2, rem. 3, rem. 4, rem. §, rem. 9, end2. 0} ;

SQ(e) = if (c>D) {in?x -> sq! (x*x)} -> SQ(c-1)}
[] if (c==0) {end!0 -» Stop}:

BEEM = sg?x —> rem! (x%¥10) -> REM
[] end?z -> end2!z -> Stop;

= rem?x -> prtlz -> SUM(y+x)
[] end2?z -> pres!y -> Stop:

cal3.csp Ln: 13 Col: 8 INS
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|ICAL = (50 || REM || SUMD ¥ {sa[0..1],rem[0..1],end,end2}.
| |ACAL = (S0 || REM || SUMY ¥ {=q[0..11,rem[0..1],end, end2, pris[0..311.

30 = =alal,

SBfe:0..3] = if (c20) then Cinle0..1] -» sqle#x] -» S0[c-1]1) ] m[Y]I-D]
else {end -» STOF).

1t [0
=) \ o
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SUM = SUM[D], VANNR.2AY; ' Rotinit “ m/ ./
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REM = {=sq[x:0..1] -* rem[=¥10] -> REM
| end -» end? -> STOP).
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